

ARIZONA DEPARTMENT OF TRANSPORTATION  
INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION  
CONTRACTS AND SPECIFICATIONS SECTION

## TABULATION OF BIDS

**CONTRACT # 2025062**

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
999 UN 999 F077101C	999-A-(648)T	104401	UNKNOWN	SOUTHWEST	0		Mike Wechselberger

Highway Termini	Location	Work Description
• STATEWIDE	• Various Ports of Entry	• Port of Entry Sign Replacement

## BID RESULTS FOR 2025062

Bid Opening Date : 9/5/2025, Prequalification Required, Engineer Specialist : Mike Wechselberger

**Completion Date:**

120 Working Days

The proposed work is located at Ports of Entry in the following counties: Apache, Cochise, La Paz, Mohave, and Yuma. The work consists of replacing existing signs, posts, and foundations. The proposed work also includes pavement markings and other related work.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$851,445.50	DEPARTMENT ESTIMATE	\$851,445.50
1	+69.6%		\$1,444,444.00	HAWK CONTRACTING LLC 1022 E. LOYOLA DRIVE TEMPE, AZ 85282-	\$1,444,444.00
2	+100.7%		\$1,709,108.00	C S CONSTRUCTION, INC. 22023 N 20TH AVE SUITE A PHOENIX, AZ 85027-	\$1,709,108.00

**Winning Bidder is 69.6% Over Department Estimate (Difference = \$592,998.50)**

## \*\*\* Bid Tabs for Proposal Pamphlet 2025062 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020115	EACH	REMOVE (Sign Panel)				
Bid Rank	Department Estimate		6.000	\$600.000	\$3,600.00	
1	HAWK CONTRACTING LLC			\$1,300.000	\$7,800.00	+116.7%
2	C S CONSTRUCTION, INC.			\$1,250.000	\$7,500.00	+108.3%
2020116	EACH	REMOVE (Sign Panel & Posts)				
Bid Rank	Department Estimate		3.000	\$700.000	\$2,100.00	
1	HAWK CONTRACTING LLC			\$2,600.000	\$7,800.00	+271.4%
2	C S CONSTRUCTION, INC.			\$750.000	\$2,250.00	+7.1%
2020117	EACH	REMOVE (Sign Panel, Posts, & Foundations)				
Bid Rank	Department Estimate		65.000	\$800.000	\$52,000.00	
1	HAWK CONTRACTING LLC			\$1,450.000	\$94,250.00	+81.3%
2	C S CONSTRUCTION, INC.			\$5,885.000	\$382,525.00	+635.6%
2020400	EACH	REMOVE AND RELOCATE (Sign Mounted DMS)				
Bid Rank	Department Estimate		2.000	\$4,100.000	\$8,200.00	
1	HAWK CONTRACTING LLC			\$5,000.000	\$10,000.00	+22.0%
2	C S CONSTRUCTION, INC.			\$5,600.000	\$11,200.00	+36.6%
6070004	L.FT.	BREAKAWAY SIGN POST W6X12				
Bid Rank	Department Estimate		627.000	\$55.000	\$34,485.00	
1	HAWK CONTRACTING LLC			\$60.000	\$37,620.00	+9.1%
2	C S CONSTRUCTION, INC.			\$70.000	\$43,890.00	+27.3%
6070006	L.FT.	BREAKAWAY SIGN POST W8X18				
Bid Rank	Department Estimate		1,756.000	\$65.000	\$114,140.00	
1	HAWK CONTRACTING LLC			\$65.000	\$114,140.00	+0.0%
2	C S CONSTRUCTION, INC.			\$77.000	\$135,212.00	+18.5%
6070008	L.FT.	BREAKAWAY SIGN POST W10X22				
Bid Rank	Department Estimate		108.000	\$80.000	\$8,640.00	
1	HAWK CONTRACTING LLC			\$85.000	\$9,180.00	+6.3%
2	C S CONSTRUCTION, INC.			\$104.000	\$11,232.00	+30.0%
6070024	EACH	FOUNDATION FOR BREAKAWAY SIGN POST W6X12				
Bid Rank	Department Estimate		30.000	\$1,350.000	\$40,500.00	
1	HAWK CONTRACTING LLC			\$2,500.000	\$75,000.00	+85.2%
2	C S CONSTRUCTION, INC.			\$2,650.000	\$79,500.00	+96.3%
6070026	EACH	FOUNDATION FOR BREAKAWAY SIGN POST W8X18				
Bid Rank	Department Estimate		72.000	\$1,450.000	\$104,400.00	
1	HAWK CONTRACTING LLC			\$2,750.000	\$198,000.00	+89.7%
2	C S CONSTRUCTION, INC.			\$3,480.000	\$250,560.00	+140.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025062 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6070028	EACH	FOUNDATION FOR BREAKAWAY SIGN POST W10X22				
Bid Rank	Department Estimate		4.000	\$2,000.000	\$8,000.00	
1	HAWK CONTRACTING LLC			\$3,000.000	\$12,000.00	+50.0%
2	C S CONSTRUCTION, INC.			\$4,125.000	\$16,500.00	+106.3%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		216.000	\$30.000	\$6,480.00	
1	HAWK CONTRACTING LLC			\$50.000	\$10,800.00	+66.7%
2	C S CONSTRUCTION, INC.			\$62.000	\$13,392.00	+106.7%
6080018	SQ.FT.	EXTRUDED ALUMINUM SIGN PANEL				
Bid Rank	Department Estimate		6,669.000	\$35.000	\$233,415.00	
1	HAWK CONTRACTING LLC			\$30.000	\$200,070.00	-14.3%
2	C S CONSTRUCTION, INC.			\$49.000	\$326,781.00	+40.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		1,050.000	\$0.500	\$525.00	
1	HAWK CONTRACTING LLC			\$0.250	\$262.50	-50.0%
2	C S CONSTRUCTION, INC.			\$0.750	\$787.50	+50.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		440.000	\$2.000	\$880.00	
1	HAWK CONTRACTING LLC			\$1.000	\$440.00	-50.0%
2	C S CONSTRUCTION, INC.			\$0.950	\$418.00	-52.5%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		610.000	\$0.500	\$305.00	
1	HAWK CONTRACTING LLC			\$0.150	\$91.50	-70.0%
2	C S CONSTRUCTION, INC.			\$0.300	\$183.00	-40.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		1,050.000	\$0.650	\$682.50	
1	HAWK CONTRACTING LLC			\$0.150	\$157.50	-76.9%
2	C S CONSTRUCTION, INC.			\$0.300	\$315.00	-53.8%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		90.000	\$650.000	\$58,500.00	
1	HAWK CONTRACTING LLC			\$250.000	\$22,500.00	-61.5%
2	C S CONSTRUCTION, INC.			\$1,642.000	\$147,780.00	+152.6%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		170.000	\$0.700	\$119.00	
1	HAWK CONTRACTING LLC			\$0.700	\$119.00	0.0%
2	C S CONSTRUCTION, INC.			\$0.900	\$153.00	+28.6%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025062 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		440.000	\$0.800	\$352.00	
1	HAWK CONTRACTING LLC			\$1.000	\$440.00	+25.0%
2	C S CONSTRUCTION, INC.			\$0.950	\$418.00	+18.8%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		90.000	\$65.000	\$5,850.00	
1	HAWK CONTRACTING LLC			\$45.000	\$4,050.00	-30.8%
2	C S CONSTRUCTION, INC.			\$79.000	\$7,110.00	+21.5%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		3,330.000	\$0.500	\$1,665.00	
1	HAWK CONTRACTING LLC			\$1.000	\$3,330.00	+100.0%
2	C S CONSTRUCTION, INC.			\$1.000	\$3,330.00	+100.0%
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank	Department Estimate		10.000	\$3.000	\$30.00	
1	HAWK CONTRACTING LLC			\$4.750	\$47.50	+58.3%
2	C S CONSTRUCTION, INC.			\$4.750	\$47.50	+58.3%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		8,380.000	\$0.400	\$3,352.00	
1	HAWK CONTRACTING LLC			\$0.500	\$4,190.00	+25.0%
2	C S CONSTRUCTION, INC.			\$0.550	\$4,609.00	+37.5%
7090001	L.FT.	DUAL COMPONENT PAVEMENT MARKING (WHITE EPOXY)				
Bid Rank	Department Estimate		9,240.000	\$0.900	\$8,316.00	
1	HAWK CONTRACTING LLC			\$0.650	\$6,006.00	-27.8%
2	C S CONSTRUCTION, INC.			\$0.650	\$6,006.00	-27.8%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$99,000.000	\$99,000.00	
1	HAWK CONTRACTING LLC			\$448,766.750	\$448,766.75	+353.3%
2	C S CONSTRUCTION, INC.			\$204,000.000	\$204,000.00	+106.1%
9240111	L.FT.	MISCELLANEOUS WORK (Obliterate Pavement Marking (Stripe))				
Bid Rank	Department Estimate		2,800.000	\$2.000	\$5,600.00	
1	HAWK CONTRACTING LLC			\$0.750	\$2,100.00	-62.5%
2	C S CONSTRUCTION, INC.			\$0.750	\$2,100.00	-62.5%
9240119	EACH	MISCELLANEOUS WORK (Obliterate Pavement Markers)				
Bid Rank	Department Estimate		103.000	\$3.000	\$309.00	
1	HAWK CONTRACTING LLC			\$2.750	\$283.25	-8.3%
2	C S CONSTRUCTION, INC.			\$3.000	\$309.00	+0.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025062 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$50,000.000	\$50,000.00	
1	HAWK CONTRACTING LLC			\$175,000.000	\$175,000.00	+250.0%
2	C S CONSTRUCTION, INC.			\$51,000.000	\$51,000.00	+2.0%